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[z, pa] = i, [y, p,] = ih, [2,p.] = ik, (1)
[l‘,l‘] = [.l’,y] = [I,Z] - [l’,py] = [x,pz] =0, (2)
Wy, vl = [y, 2] = [y, p2) = [y, 0] = [2,p2] = [2,0y] = 0. (3)
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le = yp.—z2py = ;(yg - Za_y)’ (5)
h 0 0
Ey = ZPgz — TP, = ;(Za_l‘ - I@)v (6)
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(02, 0,]) = [0+ €,° + 0.2 0] = [0% 6] + [0, 0a) + [£.°, 4] (8)
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[£x27 gm] = 613 - 613 = 07 (9>
10,2, 0,] = 0,20, — 00,2 = £,(£,6, — 0a0,) + (sl — £0,)0,
= —ih (0L, + .0,), (10)
[6227 gx] = €z2€x - €x€z2 = gz(gzgx - gxgz) + (gzgx - g:tgz)gz
— ih(,C, + 0.0, (11)
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[62,0,] =0 (12)
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